From the Minutes of the Annual Meeting of the Robert College

Board of Trustees

november 6, 1952

Dean and Vice-President of the College, and submitted by President Ployd H. Black to the Trustees, that Dean Scott and Mrs. Scott be permitted to build a two-family apartment on a plot of land near the College infirmary to be occupied by Dean Scott and Mrs. Scott visions. On motion duly made and seconded it was voted that Dean Apartment house on a plot of land near the College Infirmary, to be occupied by Dean and Mrs. Scott visions. On motion duly made and seconded it was voted that Dean apartment house on a plot of land near the College Infirmary, to be occupied by Dean and Mrs. Scott and Mrs. Scott's aunt, Mr. Middleton Edwards, with the understanding that on the death of all three the house should become the sole property of Robert College, survivors of the three persons named, the house should be fully at the disposal of any such survivor or survivors for occupancy or rental."

Adli-S.Yener Karayolları Gn. Md. Tesisler Ankara.



Dean H.L. Scott Amerikan Koleji Erkek Kısmı Dahiliye Müdürü Posta Kutusu 8 Bebek İstanbul



Yapılacak İşin Cinsi	Miktarı	Vahidi Fiati T.L.	Tutarı T.L.
Bodrum Toprak Hafriyatı	234.14 m ³	5.00	1170.70
Temel Hafriyatı	98.58 m ³	5.00	479.25
Bodrum Taş Duvarı	121.65 m ³	35.00	4257.75
Bodrumda Blokaj	17.96 m ³	15.00	269.40
200 Dozlu Grobeton	11.98 m ³	50.00	599.00
500 Dozlu Şap	263.75 m ²	3.500	923.13
Karo Mozaik Döşeme	158.30 m ²	14.00	2216.20
Mozaik Basamak	60.00 m.t.	20.00	1200.00
Ahşap Pencere	49.62 m ²	35.00	1736.70
Yuvarlak Pencere	1.50 m ²	40.00	60.00
Yağmur Dereleri	65.00 m.t.	5.00	325.00
Şakuli Yağmur Boruları	60.00 m.t.	7.00	420.00
Pik Döfenler	8.00 adet	12.00	96.00
Dahili Kapılar	74.00 m ²	45.00	3330.00
Sert Ağaç Giriş Kapıları	4.80 m ²	130.00	624.00
Camli Kapılar	33.00 m ²	50.00	1650.00
Dahili Sıva	714.00 m ²	3.00	2142.00
Tavan Sivasi	350000 m ²	3.00	1050.00
250 Dozlu Temel Anbatman E	Bet. 16.20 m ³	55.00	891.00
Giriş Mermer Basamakları	20.00 m.t.	50.00	1000.00
Tuğla Duvar	85.00 m ³	65.00	5525.00
Yarım Tuğla Duvar	150.00 m ²	10.00	1500.00
Pencere Denizliği	36.00 m.t.	10.00	360.00
Ahşap Döşeme	170.00 m ²	15.00	2550.00
Ahşap Yerli Dolap	14.00 adet	400.00	5400.00
Karo Fayans Kaplama	120.00 m ²	30.00	3600.00
Harici Siva	330.00 m ²	10.00	3300.00
Demir Parmaklık	400.00 kg.	1.30	520.00
Çatı Yapılması	242.25 m ²	25.00	6056.00
300 Dozlu Betonarme	75.00 m ³	165.00	12375.00

Yapılacak İşin Cinsi	Miktarı	Vahidi Fiati T.L.	Tutarı T.L.	
Yağlı Boya	250.00 m ²	5.00	1250.00	
		Yekûn	66876.00	
	%5 Masarifi Müteferrika		3348.82	aurozania.
			70225.20	
	%10 Müteahhit Kârı		7022.52	
		Yekûn	77247.72	T.L.

Not:
Bu miktara temiz, pis su, banyo, mutfak, elektrik ve kalorifer tesisatları dahil değildir. + 10,000
+ 17,000 lealing ayıttar.

Karayolları Tesisler Şubesi Bayındırlık Vekâleti, Ankara. Feb. 23,1953.

Dear Dean Scott,

I am very glad that the appraisal of costs will be of some assistance to you in your construction. It was a pleasure on my part to have helped you in this metter, and that is more than I deserve in return.

Please let me know whenever you need any help in the future. I shall be very happy to do whatever I can.

With best wishes to you and to Mrs. Scott I am,

Respectfully yours,

Am I Sm

February 21, 1953 Bay Adli S. Yener Bayındırlık Bakanlığı Karayolları Um. Müd. Tosisleri Ankara Dear Adli Bey, Thank you very much for the list of estimates which you so kindly prepared. I am most grateful to you for the trouble you have taken. Your appraisal of costs will be a great help to us. Please let me know what I owe you for the expenses you have incurred in the preparation of the estimates. With best wishes and renewed thanks, I am Wery sincerely yours, HLS:st

Bay Turgut Menemencioğlu Dış İşleri Bakanlığı Ankara

My dear Turgut,

I should like to ask you to do me a service if you find it possible.

Mrs. Scott and I, together with Mrs. Middleton Edwards, wish to build a house on Robert College property. The time is now near for my retirement from Robert College and Mrs. Scott and I would very much like to remain in Turkey if we can have a home of our own. The College will allow us to build on school property and the house will belong to the College when we pass on.

As the petition for permission to build is presented in the name of the College, a foreign institution, it is necessary for it to pass through the Ministry of Public Instruction and through the Ministry of Poreign Affairs to the Council of Ministers. The petition was sent to the Ministry of Public Instruction some weeks ago and was passed on to the Ministry of Foreign Affairs, where it still is.

I wonder if it is possible for you to do something to get it acted on favorably in your Ministry. I should appreciate immensely any help you can give us. It should be emphasized that permission is being asked in the name of the College for a private house, not a school building.

I am sorry to trouble you with this matter, but it is an important one for us. We should like to pass our declining years in this our adopted country and building a house on College property will make this possible.

With best regards, I am

Sincerely yours,

S. de CILLIA

inşaat muteahhitliği Beyoğlu, İstiklâl Cad. Balyoz S. 4/39

Telefon: 43736

Istanbul, B5 / 8 / 954

Bay Prof. SCOTT

Robert Kolej -- BEBEK

Talebiniz uzerine Amerikan Robert Koleji semtinde yapıkacak bir bodrum iki katlı evinizin kesfi tutarı bugunki fiatlarle T.L. 130.000 (yuzotuzbin lira) olduğunu bildiririm. Sayğılarımla



Y. MÜHENDİS - MÜTEAHHİT

GALIP KARDAM

Ulus Han No. 5, Ulus Meydanı ANKARA

TELEFON: 11243 - 12996 TELGRAF : REYRAK No. :----

Ankara, January 11, 1954

Mr. Harold Scott Posta Kutusu 8 Bebek, İstanbul

Dear Mr. Scott,

I was glad to receive your letter of January 5, which showed that you were back in your office. I sincerely hope that your good health will continue.

Ever since the receipt of your letter, I have been trying to get hold of Turgut Menemencioğlu, but you know how busy and unavailable these "big shots" in Ankara are. This morning I finally got him on the phone and asked him your question. He answered me that he had received your letter and had taken the matter up with the proper authorities. He added that, due to the New Year and all that went with it, he had not been able to get the matter finished. He requested me to tell you not to worry and that he hoped to get results very shortly. He also expressed his concern at your illness of which he had not heard.

I shall give him another week and call him up again. I will report to you what results he has been able to get.

I trust that you will find this news satisfactory and that you will give me the great pleasure of being of further service whenever possible.

I sincerely hope that I shall soon have the opportunity of visiting you personally and of giving myself the delight of a fireside chat.

I trust that both you and Mrs. Scott continue to enjoy good

health.

With best wishes,

Yours very sincerely,

March 3, 1954

Bay Hazim Kuyucak
Assikurazioni Han, 1 kat 5/6 Sokoni Vakum Petrof H. O.
Galata, Istanbul

Takkim
Cumhuriyet Cadigasus) Evi.

My dear Hazim Bey,

Cumhuriyet Cadigasus) Evi.

Thank you very much for your willingness to be of assistance to me in the matter of the permit for the house.

I am enclosing a copy of the petition for the permit, which has passed through the Ministry of Education with favorable mention and is now lodged in the legal department of the Ministry of Foreign Affairs.

Mrs. Scott and I are anxious to spend our last years in our "adopted" country - Turkey. We therefore have plans all ready for the building of a house on College property. Mrs. Middleton Edwards, my wife's aunt, will occupy one of the two apartments of the house.

The College administration is willing that we should build on College property, giving us the use of a plot of land. When the Scotts die off, as they must do someday, the house will become the property of the College.

Because the house is being built in the name of the College a special permit must be secured, which must pass through the Ministry of Education and the Ministry of Foreign Affairs and receive final approval of the Council of Ministers.

The petition has been in the hands of the Ministry of Foreign Affairs for some months now. As the building season has arrived we are anxious to get started.

If you could interview the legal department of this Ministry and find out just what the situation is I should be very grateful. The petition has been in the hands of Bay Talat Miras, Harica ye Vekaleti Birinci Daire Reisi and must be passed on by Bay Osman Dostel, Hukuk Mişaavırı.

Bay Hazım Kuyucak - 2 - March 3, 1954 I have been unable to find out just what legal obstruction there is. There cannot be any objection in principle to the building of a house which is to be a domicile for a man who would rather spend his last days in Turkey than in the United States - even if the house is in the name of the College. It does not involve expansion of educational activities of a foreign institution, after all, which is what the educational law was supposed to guard against. There is a precedent of a domicilary building on College property. That is the Manning house, which was built in 1929, I believe. The conditions were exactly the same as those under which we hope to build. I shall be most grateful for anything you can do to push this matter along. Yours very sincerely, Harold L. Scott HLS:st

Boğazici Üniversitesi Arsiy ve Dokümantasyon Merkezi Kısısel Arsivlerle İstanbul'da Bilim, Kültür ve Eğitim Tanhı Scott Ailesi Koleksiyonu

